
RV 
HaRd waRe
PLaN-O-GRaMS

YOuR NatiONaL diStRibutOR fOR wcM PROductS

tOLL fRee  800-352-0800tOLL fRee  800-352-0800 

accOuNt #

RV RePLaceMeNt HaRdwaRe PLaN-O-GRaMS fOR 
aLL YOuR wiNdOw, dOOR, cabiNet, cLOSet aNd batH NeedS!



15” RV Window Hardware 
Plan-O-Gram

RV wiNdOw
HaRdwaRe 

*Includes: 16” x 9” Sign, Peg 
Hooks and Reorder Cards
Actual Size: 14-1/2” x 44”

Part #: _______________________6110

1 2 3

4 5 6

7
8 9

10

11 12 13

14 15 16

17 18 19

20 21
22

23 24
25

838C BLK 743C WHT 743C BLK

889C 743CE WHT 743CE BLK

795C 712C BLK 796C

881C BLK

834C 761C 762C

738C 735C 1716C

1718C 787CR 808CKR

802CK 803CK

800CK

814CK 807CK 801CK

14-1/2”

44”



2TOLL FREE: 800-352-0800

Position Number: 1
Part Number: 838C BLK
Description: 1" Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 3
Part Number: 743C BLK
Description: Black Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 2
Part Number: 743C WHT
Description: White Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 4
Part Number: 889C
Description: 1" Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 5
Part Number: 743CE WHT
Description: White Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

15" RV Window Hardware Plan-O-Gram



FAX: 610-534-32023

Position Number: 6
Part Number: 743CE BLK
Description: Black Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 7
Part Number: 881C BLK
Description: 1-3/4" Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 9
Part Number: 796C
Description: 3-1/2” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 10
Part Number: 795C
Description: 1-3/4” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 8
Part Number: 712C BLK
Description: 3-3/16” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

15" RV Window Hardware Plan-O-Gram



4TOLL FREE: 800-352-0800

Position Number: 11
Part Number: 834C
Description: 2” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 12
Part Number: 761C
Description: RH Slant Sill Side Mount Torque Operator (Shown) 
 1/2” Hole, w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 13
Part Number: 762C
Description: LH Slant Sill Side Mount Torque Operator (Opposite) 
 1/2” Hole, w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 15
Part Number: 735C
Description: RH Side Mount Phillips Operator 1/2” Hole, 
 w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 14
Part Number: 738C
Description: Nylon Phillips Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

15" RV Window Hardware Plan-O-Gram



FAX: 610-534-32025

Position Number: 16
Part Number: 1716C
Description: RH Side Mount Operator 1/2” 
 Hole, w/ 1/2” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 17
Part Number: 1718C
Description: RH Side Mount Operator 1/2” 
 Hole, w/ 11/16” Hub Projection
Qty/Pack: 1 pc. 
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 18
Part Number: 787CR
Description: RH Side Mount Phillips Operator 1/2” Hole, 
 w/ 11/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 19
Part Number: 808CKR
Description: RH Side Mount Torque Bar 
 Operator Kit, w/ 1/2” Hole, 
 1/2” Hub Projection 
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 20
Part Number: 802CK
Description: Center Mount Operator Kit 3/8” 
 Hex, w/ 1” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Original Replacement

Original Replacement

15" RV Window Hardware Plan-O-Gram



6TOLL FREE: 800-352-0800

Position Number: 21
Part Number: 803CK
Description: Center Mount Operator Kit 5/16”  
 Square, w/ 1” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 22
Part Number: 800CK
Description: Rack Gear Replacement   
 Operator Kit 2-1/8” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 23
Part Number: 814CK
Description: Arm Gear Roof Vent Operator Kit
   w/ 6” Arm 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 24
Part Number: 807CK
Description: Arm Gear Roof Vent Operator  
  Kit, w/ 7-11/16” Arm 2-15/16”  
  cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

E

E

Position Number: 25
Part Number: 801CK
Description: Rack Gear Replacement   
 Operator Kit 1-25/32” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

15" RV Window Hardware Plan-O-Gram



25” RV Window Hardware 
Plan-O-Gram

1
838C BLK

2
881C BLK

3
750C BLK

4
834C

5
833C

6
743C BLK

7
743C WHT

8
743CE BLK

9
743CE WHT

10
4290C BLK

11
889C

12
795C 13

771C
BLK

14
712C
BLK

15
796C16

761C
17
762C

18
715CR

19
1712C

20
1716C

21
735C

22
808CKR

23
1718C

24
787CR

25
747CR 26

801CK
27
800CK28

803CK
29
812CK

30
802CK

31
763C2

32
1770C2

33
1703C

34
738C

35
784C2

36
785C

37
814CK

38
807CK

39
806CK

40
898CK41

835C

*Includes: 16" x 9” Sign, Peg Hooks and Reorder Cards
Actual Size: 24-1/2” x 44-1/2”

44- 
1/2”

24-1/2”

RV wiNdOw
HaRdwaRe 

Part #: _______________________6111



8TOLL FREE: 800-352-0800

Position Number: 3
Part Number: 750C BLK
Description: 2-1/4” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 5
Part Number: 833C
Description: 1-1/8” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 1
Part Number: 838C BLK
Description: 1” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 2
Part Number: 881C BLK
Description: 1-3/4” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 4
Part Number: 834C
Description: 2” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

25" RV Window Hardware Plan-O-Gram



FAX: 610-534-32029

25" RV Window Hardware Plan-O-Gram

Position Number: 10
Part Number: 4290C BLK
Description: Miller Single Hung Black Sash Lock
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 6
Part Number: 743C BLK
Description: Black Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 7
Part Number: 743C WHT
Description: White Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 8
Part Number: 743CE BLK
Description: Black Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 9
Part Number: 743CE WHT
Description: White Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12



10TOLL FREE: 800-352-0800

25" RV Window Hardware Plan-O-Gram

Position Number: 13
Part Number: 771C BLK
Description: 2-1/2” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 11
Part Number: 889C
Description: 1” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 12
Part Number: 795C
Description: 1-3/4” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 14
Part Number: 712C BLK
Description: 3-3/16” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 15
Part Number: 796C
Description: 3-1/2” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320211

25" RV Window Hardware Plan-O-Gram

Position Number: 18
Part Number: 715CR
Description: RH Slant Sill Side Mount Operator 3/8” Square 
 w/ 1/4” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 19
Part Number: 1712C
Description: RH Side Mount Operator 1/2” Hole,  
 w/ 1/4” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 20
Part Number: 1716C
Description: RH Side Mount Operator 1/2” Hole,   
 w/ 1/2” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 16
Part Number: 761C
Description: RH Slant Sill Side Mount Torque Operator (Shown) 
 1/2” Hole, w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 17
Part Number: 762C
Description: LH Slant Sill Side Mount Torque Operator (Opposite) 
 1/2” Hole, w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Original Replacement

Original Replacement



12TOLL FREE: 800-352-0800

25" RV Window Hardware Plan-O-Gram

Position Number: 25
Part Number: 747CR
Description: RH Side Mount Operator 1/2” Hole, 
 w/ 1/8” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 21
Part Number: 735C
Description: RH Side Mount Phillips Operator 1/2” Hole, 
 w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 22
Part Number: 808CKR
Description: RH Side Mount Torque Bar  
 Operator Kit w/ 1/2” Hole,  
 1/2” Hub Projection
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 23
Part Number: 1718C
Description: RH Side Mount Operator 1/2” Hole, 
 w/ 11/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 24
Part Number: 787CR
Description: RH Side Mount Phillips Operator 1/2” Hole, 
 w/ 11/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Original Replacement



FAX: 610-534-320213

25" RV Window Hardware Plan-O-Gram

Position Number: 29
Part Number: 812CK
Description: Center Mount Operator Kit 5/16” Square, 
 w/ 11/16” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 26
Part Number: 801CK
Description: Rack Gear Replacement Operator  
 Kit, 1-25/32” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 27
Part Number: 800CK
Description: Rack Gear Replacement    
 Operator Kit, 2-1/8” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 28
Part Number: 803CK
Description: Center Operator Kit, 5/16” Square  
w/ 1” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 30
Part Number: 802CK
Description: Center Mount Operator Kit 3/8”   
 Hex, w/ 1” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

See 803CK (above) for 
complete kit components



14TOLL FREE: 800-352-0800

25" RV Window Hardware Plan-O-Gram

Position Number: 33
Part Number: 1703C
Description: Nylon 1/2” Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 32
Part Number: 1770C2
Description: Nylon Torque Bar Bearing 3/4” High
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 35
Part Number: 784C2
Description: Nylon 1-1/16" High Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 31
Part Number: 763C2
Description: Nylon 7/8” High Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 34
Part Number: 738C
Description: Nylon Phillips Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 36
Part Number: 785C
Description: Metal Phillips Torque Bar Arm
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320215

25" RV Window Hardware Plan-O-Gram

Position Number: 41
Part Number: 835C
Description: Vent Hinge w/ Stud
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 40
Part Number: 898CK
Description: Arm Gear Roof Vent Operator Kit,  
 w/ 5” Arm 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 39
Part Number: 806CK
Description: Arm Gear Roof Vent Operator Kit,  
 w/ 5-3/8” Arm 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 37
Part Number: 814CK
Description: Arm Gear Roof Vent Operator Kit,  
 w/ 6” Arm 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 38
Part Number: 807CK
Description: Arm Gear Roof Vent Operator Kit, 
 w/ 7-11/16” Arm 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

E

E F

H

E

E



*Includes: 16" x 9” Sign, Peg Hooks and Reorder Cards
Actual Size: 39” x 44-1/2”

1
889C

2
795C

3
838C BLK

4
748C BLK

5
881C BLK

6
750C BLK

7
4290C BLK

9
831C

10
832C

11
783C

12
743C BLK

13
743C WHT

14
743CE BLK

15
743CE WHT

17
833C

18
834C

19
747CR 20

796C
21

771C BLK
22

712C BLK
23
310C24

1712C
25
761C

26
762C

27
735C

28
808CKR

29
808CR 30

800CK
31
801CK

32
835C

33
310C BLK34

1716C
35
787CR

36
1718C

37
749CR

38
715CR

39
733C

44
812CK

45
803CK

46
1774C2

40
785C

41
738C

42
784C2

47
1770C2

48
763C2

49
1703C

43
309C

50
802CK

51
814CK

52
806CK

53
807CK

54
898CK

55
1202C

56
309C BLK

57
4000CK

8
1233C

16
756PX

58
492C

R V wiNdOw
HaRdwaRe 

44- 
1/2”

39”

Part #: _______________________6112

39” RV Window Hardware 
Plan-O-Gram



FAX: 610-534-320217

39" RV Window Hardware Plan-O-Gram

Position Number: 1
Part Number: 889C
Description: 1” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 2
Part Number: 795C
Description: 1-3/4” Mill Finish Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 3
Part Number: 838C BLK
Description: 1” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 5
Part Number: 881C BLK
Description: 1-3/4” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 4
Part Number: 748C BLK
Description: 1-3/8” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



18TOLL FREE: 800-352-0800

39" RV Window Hardware Plan-O-Gram

Position Number: 6
Part Number: 750C BLK
Description: 2-1/4” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 9
Part Number: 831C
Description: 1/2” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 10
Part Number: 832C
Description: 7/8” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 8
Part Number: 1233C
Description: Single Hung Chrome Sash Lock
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 7
Part Number: 4290C BLK
Description: Miller Single Hung Black Sash Lock,  
 2-1/4” cc Mounting
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320219

39" RV Window Hardware Plan-O-Gram

Position Number: 12
Part Number: 743C BLK
Description: Black Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 13
Part Number: 743C WHT
Description: White Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 14
Part Number: 743CE BLK
Description: Black Plastic Knob Handle w/ Screw 
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 15
Part Number: 743CE WHT
Description: White Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 11
Part Number: 783C
Description: Roof Vent Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



20TOLL FREE: 800-352-0800

39" RV Window Hardware Plan-O-Gram

Position Number: 17
Part Number: 833C
Description: 1-1/8” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 18
Part Number: 834C
Description: 2” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 20
Part Number: 796C
Description: 3-1/2” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 19
Part Number: 747CR
Description: RH Side Mount Operator 1/2” Hole, w/ 1/8”  
 Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 16
Part Number: 756PX
Description: 1/2” Diameter x 36” Round Torque Bar
Qty/Pack: 1 pc. 
Qty/Peg: 3
Qty/ReOrder: 5



FAX: 610-534-320221

39" RV Window Hardware Plan-O-Gram

Position Number: 23
Part Number: 310C
Description: .156 Hollow Round Gray Screen Spline
Qty/Pack: 20'
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 22
Part Number: 712C BLK
Description: 3-3/16” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 24
Part Number: 1712C
Description: RH Side Mount Operator 1/2” Hole,  
 w/ 1/4” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 25
Part Number: 761C
Description: RH Slant Sill Side Mount Torque Operator (Shown)  
  1/2” Hole, w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 21
Part Number: 771C BLK
Description: 2-1/2” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Actual Size

Original Replacement



22TOLL FREE: 800-352-0800

39" RV Window Hardware Plan-O-Gram

Position Number: 29
Part Number: 808CR
Description: RH Side Mount Operator 1/2” Hole, 
 w/ 1/2” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 26
Part Number: 762C
Description: LH Slant Sill Side Mount Torque Operator (Opposite)  
 1/2” Hole, w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 27
Part Number: 735C
Description: RH Side Mount Phillips Operator 1/2” Hole, 
 w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 28
Part Number: 808CKR
Description: RH Side Mount Torque Bar  
 Operator Kit 1/2” Hole, w/ 1/2”  
 Hub Projection
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 30
Part Number: 800CK
Description: Rack Gear Replacement   
 Operator Kit 2-1/8” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320223

39" RV Window Hardware Plan-O-Gram

Position Number: 33
Part Number: 310C BLK
Description: .156 Hollow Round Black Screen Spline
Qty/Pack: 20'
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 31
Part Number: 801CK
Description: Rack Gear Replacement    
 Operator Kit 1-25/32” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 32
Part Number: 835C
Description: Vent Hinge w/ Stud
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 34
Part Number: 1716C
Description: RH Side Mount Operator 1/2” Hole,  
 w/ 1/2” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 35
Part Number: 787CR
Description: RH Side Mount Phillips Operator 1/2” Hole, 
 w/ 11/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Actual Size

Original Replacement



24TOLL FREE: 800-352-0800

39" RV Window Hardware Plan-O-Gram

Position Number: 39
Part Number: 733C
Description: RH Side Mount 3/8” Square, w/ 3/16” Hub 
Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 37
Part Number: 749CR
Description: RH Side Mount Operator 3/8” Square w/ 1/18”  
 Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 36
Part Number: 1718C
Description: RH Side Mount Operator 1/2” Hole,   
 w/ 11/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 40
Part Number: 785C
Description: Metal Phillips Torque Bar Arm
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 38
Part Number: 715CR
Description: RH Slant Sill Side Mount Operator 3/8” Square, 
 w/ 1/4” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Original Replacement



FAX: 610-534-320225

39" RV Window Hardware Plan-O-Gram

Position Number: 43
Part Number: 309C
Description: .140 Hollow Round Gray Screen Spline
Qty/Pack: 20’
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 41
Part Number: 738C
Description: Nylon Phillips Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 42
Part Number: 784C2
Description: Nylon 1-1/16" High Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 44
Part Number: 812CK
Description: Center Mount Operator Kit 5/16” Square, 
 w/ 11/16” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 45
Part Number: 803CK
Description: Center Mount Operator Kit 5/16”   
 Square, w/ 1” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12

Actual Size

See 803CK (above) for 
complete kit components



26TOLL FREE: 800-352-0800

39" RV Window Hardware Plan-O-Gram

Position Number: 46
Part Number: 1774C2
Description: Nylon Torque Bar Bearing 3/4” High
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 47
Part Number: 1770C2
Description: Nylon Torque Bar Bearing 3/4” High
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 48
Part Number: 763C2
Description: Nylon 7/8” High Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 49
Part Number: 1703C
Description: Nylon 1/2” Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 50
Part Number: 802CK
Description: Center Mount Operator Kit 3/8”   
 Hex, w/ 1” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 12



FAX: 610-534-320227

39" RV Window Hardware Plan-O-Gram

Position Number: 55
Part Number: 1202C
Description: 5/32” Screen Installation Tool w/   
 Nylon Wheels
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 54
Part Number: 898CK
Description: Arm Gear Roof Vent Operator Kit  
 w/ 5” Arm, 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 52
Part Number: 806CK
Description: Arm Gear Roof Vent Operator Kit  
 w/ 5-3/8” Arm, 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 51
Part Number: 814CK
Description: Arm Gear Roof Vent Operator Kit  
 w/ 6” Arm, 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 53
Part Number: 807CK
Description: Arm Gear Roof Vent Operator Kit w/  
 7-11/16” Arm, 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

E

E

E

E F

H



28TOLL FREE: 800-352-0800

39" RV Window Hardware Plan-O-Gram

Position Number: 56
Part Number: 309C BLK
Description: .140 Hollow Round Black Screen Spline 
Qty/Pack: 20’
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 57
Part Number: 4000CK
Description: Universal Jalousie Operator Kit
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 58
Part Number: 492C
Description: Flush Clear White Plastic Screen Clip w/ Screw
Qty/Pack: 6 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Actual Size

Flush



*Includes: 16” x 9” Sign, Peg Hooks 
and Reorder Cards

Actual Size: 19-1/2” x 44-1/2”

RV Closet & Bath Hardware 
Plan-O-Gram

900-13009C

2897C

2723C

1 2
3 4

5 6

7

8 9 10

11 12
13

14

15 16 17 18

19 20 21 22

23 24

25 26
27 28

29 30 31 32

P10-100 P20-150

P-600C P600-WC

P-500C P-500WC

900-9137C3582C

2072C

3-141C

2147C

2316C

900-13119C

2317C

2899C

22-67PAC

2932C

2318CK

3401C

2145C

3451C

2146C

2315C

2144C

3445AC

900-14604C

3591AC

2961C

2934C

44-
1/2”

19-1/2”

RV 
cLOSet & batH

HaRdwaRe 

Part #: _______________________6114



30TOLL FREE: 800-352-0800

RV Closet & Bath Hardware Plan-O-Gram

Position Number: 1
Part Number: P10-100
Description: Chrome Plated Flip-It® Tub Stopper
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 3
Part Number: P-500C
Description: Chrome Lavatory Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 2
Part Number: P20-150
Description: Polished Brass Flip-It® Tub Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 4
Part Number: P-500WC
Description: White Lavatory Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 5
Part Number: P-600C
Description: Chrome Tub Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12



FAX: 610-534-320231

RV Closet & Bath Hardware Plan-O-Gram
Position Number: 6
Part Number: P-600WC
Description: White Tub Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 7
Part Number: 900-14604C
Description: Brass Plated Pocket Door Lock
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 8
Part Number: 3582C
Description: Brass Plated Pocket Door Pull
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 9
Part Number: 900-9137C
Description: Ribbed Mirror Clip with Screws
Qty/Pack: 6 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 10
Part Number: 900-13119C
Description: Teardrop Mirror Clip with Screws
Qty/Pack: 6 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



32TOLL FREE: 800-352-0800

RV Closet & Bath Hardware Plan-O-Gram

Position Number: 11
Part Number: 2072C
Description: Mill Finish Pocket Door Pull
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 12
Part Number: 2317C
Description: Adjustable Door Guide
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 13
Part Number: 900-13009C
Description: Chrome Self Stick Mirror Pull
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 15
Part Number: 3451C
Description: Cox Pocket Door Dual Wheel Bracket Set
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 14
Part Number: 2723C
Description: Plastic Roller with Bracket
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320233

RV Closet & Bath Hardware Plan-O-Gram

Position Number: 16
Part Number: 3-141C
Description: 3 Wheel Hanger Assembly w/ Bracket
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 12

Position Number: 17
Part Number: 3591AC
Description: Cox Pocket Door 4 Wheel Bracket Set
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 18
Part Number: 2897C
Description: Metal Shower Door Latch
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 20
Part Number: 2147C
Description: Grooved Wheel Closet Door Roller Hanger - Back
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 19
Part Number: 2146C
Description: Grooved Wheel Closet Door Roller Hanger - Front
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



34TOLL FREE: 800-352-0800

RV Closet & Bath Hardware Plan-O-Gram

Position Number: 21
Part Number: 2961C
Description: Bi-Fold Bottom Guide Set - Left Shown
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 22
Part Number: 2899C
Description: 3' Shower Door Seal
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 23
Part Number: 2315C
Description: Hanger Bracket - Front
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 24
Part Number: 2316C
Description: Hanger Bracket - Back
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 25
Part Number: 2144C
Description: Oval Door Roller Hanger - Front
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

3/8" Offset



FAX: 610-534-320235

RV Closet & Bath Hardware Plan-O-Gram

Position Number: 27
Part Number: 2318CK
Description: Top and Bottom Guide and Hanger Set
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 28
Part Number: 22-67PAC
Description: Chrome Plated Shower Door Handle
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 26
Part Number: 2145C
Description: Oval Door Roller Hanger - Back
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 30
Part Number: 2934C
Description: Bi-Fold Bottom Guide Set
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 29
Part Number: 3445AC
Description: Top and Bottom Guide and Hanger Set
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

3/4" Offset



36TOLL FREE: 800-352-0800

RV Closet & Bath Hardware Plan-O-Gram

Position Number: 31
Part Number: 3401C
Description: Top Roller Set 
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 32
Part Number: 2932C
Description: Bi-Fold Adjustable Top Roller Set
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10



*Includes: 16” x 9” Sign, Peg 
Hooks and Reorder Cards

Actual Size: 19-1/2” x 44-1/2”

RV Cabinet Hardware 
Plan-O-Gram

RV 
cabiNet

HaRdwaRe 

12

16-435C

8-482C 45-232C

16-436C

45-224C

1 2 3 4

5 6 7 8

9 10 11

13 14 15 16

17 18 19 20

21 22 23

24 25 26

27 28

29

30 31

32

45-227C 45-245C 900-10756C

900-11343C900-6695C

45-235ABC

45-236ABC

45-237ABC

45-130C

8-356C

45-194C

45-239C

8-470C

45-87C

45-216C

45-230C

45-203C

45-225C

45-236PBC

45-237PBC

8-471C

45-208C

45-207C

45-235PBC

8-469C

900-8910ABC

45-206C

44-
1/2”

Part #: _______________________

19-1/2”

6115



38TOLL FREE: 800-352-0800

RV Cabinet Hardware Plan-O-Gram

Position Number: 1
Part Number: 8-471C
Description: 1-1/8" Polished Brass Cabinet Drawer Handle 
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 2
Part Number: 8-470C
Description: 1-1/4" Polished Brass Cabinet Drawer Handle
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 5
Part Number: 45-227C
Description: 1-3/4" Solid Brass Ball Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 4
Part Number: 45-232C
Description: Polished Brass Positive Catch with Strikes
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 3
Part Number: 8-482C
Description: 1-1/4" Knob Satin Nickel Finish
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320239

RV Cabinet Hardware Plan-O-Gram

Position Number: 7
Part Number: 900-10756C
Description: Solid Plastic Barrel Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 8
Part Number: 16-435C
Description: Brass Latched with Strikes
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 9
Part Number: 45-194C
Description: Magnetic Cabinet Door Catch with Flat Plate
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 6
Part Number: 45-245C
Description: Black Self Aligning Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 10
Part Number: 900-6695C
Description: High Power Magnetic Catch with Flat Plate
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10



40TOLL FREE: 800-352-0800

RV Cabinet Hardware Plan-O-Gram

Position Number: 14
Part Number: 45-130C
Description: Single Roller Door Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 12
Part Number: 16-436C
Description: 3" Brass Plated Surface Bolt with Strikes
Qty/Pack: 1 Set
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 11
Part Number: 900-11343C
Description: Magnetic Catch with Angle Plate
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 15
Part Number: 45-239C
Description: Black Magnetic Touch Latch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 13
Part Number: 45-216C
Description: Double Roller Cabinet Catch
Qty/Pack: 2 sets.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320241

RV Cabinet Hardware Plan-O-Gram

Position Number: 16
Part Number: 45-224C
Description: Travel Top Drawer Lock
Qty/Pack: 2 pcs. 
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 17
Part Number: 45-235PBC
Description: Polished Brass Flush Mount Free Swinging Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 18
Part Number: 45-235ABC
Description: Antique Brass Flush Mount Free Swinging Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 19
Part Number: 8-356C
Description: Polished Brass 3 Leaf Free Swinging Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 20
Part Number: 45-87C
Description: 22-3/4" Cabinet Drawer Track Set
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

2-1/2" x 3-1/2"



42TOLL FREE: 800-352-0800

RV Cabinet Hardware Plan-O-Gram

Position Number: 22
Part Number: 45-236ABC
Description: Antique Brass Flush Mount Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 25
Part Number: 45-237ABC
Description: Antique Brass Offset Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 23
Part Number: 8-469C
Description: Polished Brass Extended 3 Leaf Free Swinging Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 24
Part Number: 45-237PBC
Description: Polished Brass Offset Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 21
Part Number: 45-236PBC
Description: Polished Brass Flush Mount Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

2-3/4" x 3-1/2"



FAX: 610-534-320243

RV Cabinet Hardware Plan-O-Gram

Position Number: 26
Part Number: 900-8910ABC
Description: Antique Brass Flush Mount Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 29
Part Number: 45-230C
Description: Polished Chrome Knife Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 28
Part Number: 45-225C
Description: Nickel Finish Self-Closing Concealed Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 27
Part Number: 45-208C
Description: Black Plastic Mini Door Strut
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 30
Part Number: 45-207C
Description: Satin Nickel Mini Door Strut
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



44TOLL FREE: 800-352-0800

RV Cabinet Hardware Plan-O-Gram
Position Number: 31
Part Number: 45-206C
Description: Antique English Mini Door Strut
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 32
Part Number: 45-203C
Description: Adjustable Rear Mount Drawer Slide Socket Set
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10



*Includes: 16” x 9” Sign, Peg 
Hooks and Reorder Cards

Actual Size: 19-1/2” x 40-1/2”

RV Door Hardware 
Plan-O-Gram

RV dOOR
HaRdwaRe 1 2 3 4

5 6 7
8

9 10 11

12

13 14

15

16 17

18 19 20 21

45-220C 45-219C 1849C

19-181C

45-218WC 779C

45-223C45-222C

17-166RHBC

17-91GC4244CA

829C 830C

19-181OWC

19-242C

45-221C

45-240C

45-217WC

17-166LHBC

16-185C

17-91KWC

40-
1/2"

Part #: ______________________

19-1/2”

6113



46TOLL FREE: 800-352-0800

RV Door Hardware Plan-O-Gram
Position Number: 1
Part Number: 829C
Description: Bright Chrome Finish Garment Hanger
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 2
Part Number: 830C
Description: Antique Brass Finish Garment Hanger
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 3
Part Number: 45-218WC
Description: White Baggage Door Catch
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 5
Part Number: 45-220C
Description: 3" White Door Stop
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 4
Part Number: 779C
Description: Travel Lock Pin
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320247

RV Door Hardware Plan-O-Gram
Position Number: 6
Part Number: 45-219C
Description: White Double Screw Entry Door Bumper
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 7
Part Number: 1849C
Description: White Rosette with Screws
Qty/Pack: 15 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 8
Part Number: 19-181C
Description: 3" White Wall Protector
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 10
Part Number: 45-222C
Description: 4" White Nylon RV Entry Door Holder
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 9
Part Number: 45-221C
Description: 6" White Plastic "T" RV Entry Door Holder
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10



48TOLL FREE: 800-352-0800

RV Door Hardware Plan-O-Gram

Position Number: 11
Part Number: 45-223C
Description: White Nylon Curved Arm RV Entry Door Holder
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 13
Part Number: 17-166LHBC
Description: Black Left Hand Screen Door Lever Handle
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 14
Part Number: 17-166RHBC
Description: Black Right Hand Screen Door Lever Handle
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 12
Part Number: 19-181OWC
Description: 3" Off White/Beige Wall Protector
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 15
Part Number: 45-240C
Description: Door/Drawer Bumper
Qty/Pack: 20 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320249

Position Number: 16
Part Number: 16-185C
Description: Nickel Finish Security Latch
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 17
Part Number: 19-242C
Description: White, Adhesive PVC Wall Bumper
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 18
Part Number: 45-217WC
Description: White 7-7/8" CC Plastic Grab Handle
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 20
Part Number: 17-91KWC
Description: White Trailer Lock with Key
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 19
Part Number: 4244CA
Description: Gray Trailer Lock with Key/No Lockout Feature
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

RV Door Hardware Plan-O-Gram

Position Number: 21
Part Number: 17-91GC
Description: Gold Trailer Lock without Key
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Installation hole spacing 1-3/4”

Installation hole spacing 1-3/4”

Installation hole spacing 1-3/4”



Complete RV Hardware 
Plan-O-Gram

Part #: 6116                                 Includes: Revolving Rack, 16” x 9” 
Sign, Peg Hooks and Reorder Cards

The Most Complete Space- saving RV Hardware Plan-O-Gram in the Industry

Includes Window,  Door, Cabinet, Closet & Bath Products!

4 Panel, Space-Saving, Revolving Pegboard Rack

ONLY 2 SQUARE FEET OF FLOOR SPACE REQUIRED!

136 Different SKU’s!



Complete RV Hardware 
Plan-O-Gram Panel 1

Panel 1 of 6116                   

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

45-217WC

829C

900-9137C

45-219C

17-91KWC

17-91GC

P-600WC

P-600C

45-220C

2144C

2932C

1044C

2145C

45-221C

830C

45-222C

3445AC

4244CA

P-500C

2316C

45-223C

3-141C

33
3582C

34
900-14604C

1849C

P-500WC

2961C

900-13009C

2723C

900-13119C

2315C

45-218WC

3451C

1
779C



52TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 1
Part Number: 779C
Description: Travel Lock Pin
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 3
Part Number: 17-91KWC
Description: White Trailer Lock with Key
Qty/Pack: 1 set
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 2
Part Number: 4244CA
Description: Gray Trailer Lock with Key No Lockout Feature
Qty/Pack: 1 set
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 5
Part Number: 45-217WC
Description: White 7-7/8" CC Plastic Grab Handle
Qty/Pack: 1 pc.
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 4
Part Number: 17-91GC
Description: Gold Trailer Lock without Key
Qty/Pack: 1 set
Qty/Peg: 2
Qty/ReOrder: 10

Installation hole spacing 1-3/4”

Installation hole spacing 1-3/4”

Installation hole spacing 1-3/4”



FAX: 610-534-320253

Complete RV Hardware Plan-O-Gram

Position Number: 6
Part Number: 829C
Description: Bright Chrome Finish Garment Hanger
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 7
Part Number: 900-9137C
Description: Ribbed Mirror Clip with Screws
Qty/Pack: 6 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 8
Part Number: 45-219C
Description: White Double Screw Entry Door Bumper
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 9
Part Number: 45-222C
Description: 4" White Nylon RV Entry Door Holder
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 10
Part Number: P-600C
Description: Chrome Tub Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 2
Qty/ReOrder: 12



54TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 11
Part Number: P-600WC
Description: White Tub Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 12
Part Number: 2145C
Description: Oval Door Roller Hanger - Back
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 13
Part Number: 2316C
Description: Hanger Bracket - Back
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 14
Part Number: 1044C
Description: Closet Door Guide
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 15
Part Number: 3445AC
Description: Top and Bottom Guide and Hanger Set
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

3/4" Offset



FAX: 610-534-320255

Complete RV Hardware Plan-O-Gram

Position Number: 16
Part Number: 830C
Description: Antique Brass Finish Garment Hanger
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 17
Part Number: 900-13119C
Description: Teardrop Mirror Clip with Screws
Qty/Pack: 6 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 18
Part Number: 45-220C
Description: 3" White Door Stop
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 19
Part Number: 45-221C
Description: 6" White Plastic "T" RV Entry Door Holder
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 20
Part Number: P-500C
Description: Chrome Lavatory Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



56TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 21
Part Number: P-500WC
Description: White Lavatory Stopper 
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 22
Part Number: 2144C
Description: Oval Door Roller Hanger - Front
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 23
Part Number: 2315C
Description: Hanger Bracket - Front
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 25
Part Number: 2932C
Description: Bi-Fold Adjustable Top Roller Set
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 24
Part Number: 2961C
Description: Bi-Fold Bottom Guide Set - Left Shown
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10

3/8" Offset



FAX: 610-534-320257

Complete RV Hardware Plan-O-Gram
Position Number: 26
Part Number: 45-218WC
Description: White Baggage Door Catch
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 27
Part Number: 900-13009C
Description: Chrome Self Stick Mirror Pull
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 28
Part Number: 1849C
Description: White Rosette with Screws
Qty/Pack: 15 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 29
Part Number: 45-223C
Description: White Nylon Curved Arm RV Entry Door Holder
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 30
Part Number: 2723C
Description: Plastic Roller with Bracket
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



58TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 31
Part Number: 3451C
Description: Cox Pocket Door Dual Wheel Bracket Set
Qty/Pack: 1 pc.
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 32
Part Number: 3-141C
Description: 3 Wheel Hanger Assembly w/ Bracket
Qty/Pack: 2 sets
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 33
Part Number: 3582C
Description: Brass Plated Pocket Door Pull
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 34
Part Number: 900-14604C
Description: Brass Plated Pocket Door Lock
Qty/Pack: 1 pc.
Qty/Peg: 2
Qty/ReOrder: 10



Complete RV Hardware 
Plan-O-Gram Panel 2

36

41

42

43

44

45

46

47

48

51

52

53

54

55

56

57

58

59

61

62

63

64

65

66

889C

795C

796C

832C

743C WHT 743CE WHT

814CK

898CK

833C

771C BLK

743C BLK

19-181C

37
19-181OWC

38
19-242C

39
17-166LHBC

40
17-166RHBC

1233C

806CK

49
838C BLK

50
881C BLK

4290C BLK

834C

801CK

750C BLK

60
712C BLK

831C

800CK

743CE BLK

748C BLK

783C

807CK

35
45-240C

Panel 2 of 6116                   



60TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram
Position Number: 35
Part Number: 45-240C
Description: Door/Drawer Bumper
Qty/Pack: 20 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 36
Part Number: 19-181C
Description: 3" White Wall Protector
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 37
Part Number: 19-181OWC
Description: 3" Off White/Beige Wall Protector
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 38
Part Number: 19-242C
Description: White, Adhesive PVC Wall Bumper
Qty/Pack: 2 pcs.
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 39
Part Number: 17-166LHBC
Description: Black Left Hand Screen Door Lever Handle
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320261

Complete RV Hardware Plan-O-Gram

Position Number: 40
Part Number: 17-166RHBC
Description: Black Right Hand Screen Door Lever Handle
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 41
Part Number: 889C
Description: 1" Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 42
Part Number: 795C
Description: 1-3/4” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 43
Part Number: 796C
Description: 3-1/2” Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 44
Part Number: 743C BLK
Description: Black Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



62TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 45
Part Number: 743C WHT
Description: White Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 46
Part Number: 832C
Description: 7/8” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 47
Part Number: 898CK
Description: Arm Gear Roof Vent Operator Kit,  
 w/ 5” Arm 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 48
Part Number: 806CK
Description: Arm Gear Roof Vent Operator Kit,  
 w/ 5-3/8” Arm 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 49
Part Number: 838C BLK
Description: 1" Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

E

E F

H



FAX: 610-534-320263

Complete RV Hardware Plan-O-Gram
Position Number: 50
Part Number: 881C BLK
Description: 1-3/4" Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 51
Part Number: 771C BLK
Description: 2-1/2” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 52
Part Number: 743CE BLK
Description: Black Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 53
Part Number: 743CE WHT
Description: White Plastic Knob Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 54
Part Number: 833C
Description: 1-1/8” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



64TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 55
Part Number: 1233C
Description: Single Hung Chrome Sash Lock
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 56
Part Number: 801CK
Description: Rack Gear Replacement   
 Operator Kit 1-25/32” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 57
Part Number: 814CK
Description: Arm Gear Roof Vent Operator Kit
   w/ 6” Arm 2-15/16” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 58
Part Number: 748C BLK
Description: 1-3/8” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 59
Part Number: 750C BLK
Description: 2-1/4” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

E



FAX: 610-534-320265

Complete RV Hardware Plan-O-Gram

Position Number: 60
Part Number: 712C BLK
Description: 3-3/16” Black Plastic Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 61
Part Number: 783C
Description: Roof Vent Metal Crank Handle w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 62
Part Number: 831C
Description: 1/2” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 63
Part Number: 834C
Description: 2” Metal Extension w/ Screw
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 64
Part Number: 4290C BLK
Description: Miller Single Hung Black Sash Lock
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10



66TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 65
Part Number: 800CK
Description: Rack Gear Replacement   
 Operator Kit 2-1/8” cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 66
Part Number: 807CK
Description: Arm Gear Roof Vent Operator  
  Kit, w/ 7-11/16” Arm 2-15/16”  
  cc Mounting
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

E



Complete RV Hardware 
Plan-O-Gram Panel 3

68

69

70

71

72

73

74

75

76

79

80

81

82

83

84

85

86

87

89

90

91

92

93

94

95

761C

733C

735C

1770C2

1712C

808CR

763C2784C2

803CK

762C

812CK

756PX

1716C

738C

77
309C BLK

78
310C BLK

802CK

785C

96
835C

97
4000CK

98
492C

808CKR

1774C2

309C

88
310C

749CR

1718C

747CR

1703C

715CR

787CR

67
1723C

Panel 3 of 6116                   



68TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 68
Part Number: 756PX
Description: 1/2” Diameter x 36” Round Torque Bar
Qty/Pack: 1 pc. 
Qty/Peg: 3
Qty/ReOrder: 5

Position Number: 69
Part Number: 761C
Description: RH Slant Sill Side Mount Torque Operator (Shown) 
 1/2” Hole, w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 70
Part Number: 733C
Description: RH Side Mount 3/8” Square, w/ 3/16” 
 Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 71
Part Number: 735C
Description: RH Side Mount Phillips Operator 1/2” Hole, 
 w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 67
Part Number: 1723C
Description: Philips Nylon Window Latch Set (LH/RH)
Qty/Pack: 1 pr..
Qty/Peg: 2
Qty/ReOrder: 10



FAX: 610-534-320269

Complete RV Hardware Plan-O-Gram
Position Number: 72
Part Number: 812CK
Description: Center Mount Operator Kit 5/16” Square, 
 w/ 11/16” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 73
Part Number: 1712C
Description: RH Side Mount Operator 1/2” Hole,  
 w/ 1/4” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 74
Part Number: 1770C2
Description: Nylon Torque Bar Bearing 3/4” High
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 75
Part Number: 784C2
Description: Nylon 1-1/16" High Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 76
Part Number: 738C
Description: Nylon Phillips Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Original Replacement



70TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 78
Part Number: 310C BLK
Description: .156 Hollow Round Black Screen Spline
Qty/Pack: 20'
Qty/Peg: 3
Qty/ReOrder: 10

Actual Size

Position Number: 79
Part Number: 762C
Description: LH Slant Sill Side Mount Torque Operator (Opposite) 
 1/2” Hole, w/ 3/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 80
Part Number: 747CR
Description: RH Side Mount Operator 1/2” Hole, 
 w/ 1/8” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 81
Part Number: 808CR
Description: RH Side Mount Operator 1/2” Hole, 
 w/ 1/2” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 77
Part Number: 309C BLK
Description: .140 Hollow Round Black Screen Spline 
Qty/Pack: 20’
Qty/Peg: 3
Qty/ReOrder: 10

Actual Size



FAX: 610-534-320271

Complete RV Hardware Plan-O-Gram
Position Number: 82
Part Number: 803CK
Description: Center Mount Operator Kit 5/16”  
 Square, w/ 1” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 83
Part Number: 1716C
Description: RH Side Mount Operator 1/2” Hole, 
 w/ 1/2” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Original Replacement

Position Number: 84
Part Number: 1774C2
Description: Nylon Torque Bar Bearing 3/4” High
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 85
Part Number: 763C2
Description: Nylon 7/8” High Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 86
Part Number: 1703C
Description: Nylon 1/2” Torque Bar Bearing
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



72TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 88
Part Number: 310C
Description: .156 Hollow Round Gray Screen Spline
Qty/Pack: 20'
Qty/Peg: 3
Qty/ReOrder: 10

Actual Size

Position Number: 89
Part Number: 715CR
Description: RH Slant Sill Side Mount Operator 3/8” Square 
 w/ 1/4” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 90
Part Number: 749CR
Description: RH Side Mount Operator 3/8” Square w/ 1/8”  
 Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 91
Part Number: 808CKR
Description: RH Side Mount Torque Bar 
 Operator Kit, w/ 1/2” Hole, 1/2” 
 Hub Projection 
Qty/Pack: 1 kit
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 87
Part Number: 309C
Description: .140 Hollow Round Gray Screen Spline
Qty/Pack: 20’
Qty/Peg: 3
Qty/ReOrder: 10

Actual Size



FAX: 610-534-320273

Complete RV Hardware Plan-O-Gram
Position Number: 92
Part Number: 802CK
Description: Center Mount Operator Kit 3/8” 
 Hex, w/ 1” cc Mounting Holes
Qty/Pack: 1 kit
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 93
Part Number: 1718C
Description: RH Side Mount Operator 1/2” Hole, 
 w/ 11/16” Hub Projection
Qty/Pack: 1 pc. 
Qty/Peg: 2
Qty/ReOrder: 12

Original Replacement

Position Number: 94
Part Number: 787CR
Description: RH Side Mount Phillips Operator 1/2” Hole, 
 w/ 11/16” Hub Projection
Qty/Pack: 1 pc.
Qty/Peg: 2
Qty/ReOrder: 12

Position Number: 95
Part Number: 785C
Description: Metal Phillips Torque Bar Arm
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 96
Part Number: 835C
Description: Vent Hinge w/ Stud
Qty/Pack: 1 pr.
Qty/Peg: 3
Qty/ReOrder: 10



74TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram

Position Number: 98
Part Number: 492C
Description: Flush Clear White Plastic Screen Clip w/ Screw
Qty/Pack: 6 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Flush

Position Number: 97
Part Number: 4000CK
Description: Universal Jalousie Operator Kit
Qty/Pack: 1 kit
Qty/Peg: 2
Qty/ReOrder: 10



130
900-11343C

2897C

   45-216C

45-232C

45-239C

8-482C

100

104

105

106

107

108

109

110

111

114

115

116

117

118

119

120

121

122

126

127

128

129

131

132

8-471C

45-227C

45-194C

45-236PBC

45-235PBC

900-6695C

45-237ABC45-237PBC

45-130C

8-470C

900-10756C

45-229C

101
45-203C

102
45-87KC

103
45-87C

45-235ABC

45-225C

112
45-208C

113
45-206C

133
2899C

134
16-435C

135
16-436C

136
16-185C

45-236ABC

45-230C

123
8-356C

124
8-469C

125
45-207C

45-245C

900-8910ABC

22-67PAC

99
45-224C

Panel 4 of 6116                   

Complete RV Hardware 
Plan-O-Gram Panel 4



76TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram
Position Number: 99
Part Number: 45-224C
Description: Travel Stop Drawer Lock
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 100
Part Number: 45-229C
Description: Rear Mount Drawer Slide Socket Set
Qty/Pack: 1 pr.
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 101
Part Number: 45-203C
Description: Adjustable Rear Mount Drawer Slide Socket Set
Qty/Pack: 1 pr.
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 103
Part Number: 45-87C
Description: 22-3/4" Cabinet Drawer Track Set
Qty/Pack: 1 kit
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 102
Part Number: 45-87KC
Description: Cabinet Drawer Hardware Kit
Qty/Pack: 1 kit
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 104
Part Number: 8-471C
Description: 1-1/8" Polished Brass Cabinet Drawer Handle 
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320277

Position Number: 109
Part Number: 45-236PBC
Description: Polished Brass Flush Mount Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 110
Part Number: 45-237PBC
Description: Polished Brass Offset Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Complete RV Hardware Plan-O-Gram
Position Number: 105
Part Number: 45-227C
Description: 1-3/4" Solid Brass Ball Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 106
Part Number: 45-194C
Description: Magnetic Cabinet Door Catch with Flat Plate
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 107
Part Number: 900-10756C
Description: Solid Plastic Barrel Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 108
Part Number: 45-235PBC
Description: Polished Brass Flush Mount Free Swinging Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



78TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram
Position Number: 111
Part Number: 45-225C
Description: Nickel Finish Self-Closing Concealed Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 112
Part Number: 45-208C
Description: Black Plastic Mini Door Strut
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 113
Part Number: 45-206C
Description: Antique English Mini Door Strut
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 114
Part Number: 8-470C
Description: 1-1/4" Polished Brass Cabinet Drawer Handle
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 115
Part Number: 45-245C
Description: Black Self Aligning Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 116
Part Number: 900-6695C
Description: High Power Magnetic Catch with Flat Plate
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10



FAX: 610-534-320279

Position Number: 119
Part Number: 45-236ABC
Description: Antique Brass Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 120
Part Number: 45-237ABC
Description: Antique Brass Offset Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 121
Part Number: 900-8910ABC
Description: Antique Brass Flush Mount Self-Closing Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Complete RV Hardware Plan-O-Gram
Position Number: 117
Part Number: 45-130C
Description: Single Roller Door Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 118
Part Number: 45-235ABC
Description: Antique Brass Free Swinging Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10



80TOLL FREE: 800-352-0800

Complete RV Hardware Plan-O-Gram
Position Number: 122
Part Number: 45-230C
Description: Polished Chrome Knife Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 123
Part Number: 8-356C
Description: Polished Brass 3 Leaf Free Swinging Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 124
Part Number: 8-469C
Description: Polished Brass Extended 3 Leaf Free Swinging Hinge
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 125
Part Number: 45-207C
Description: Satin Nickel Mini Door Strut
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 126
Part Number: 8-482C
Description: 1-1/4" Knob Satin Nickel Finish
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

2-1/2" x 3-1/2"

2-3/4" x 3-1/2"



FAX: 610-534-320281

Position Number: 129
Part Number: 900-11343C
Description: Magnetic Catch with Angle Plate
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 130
Part Number: 45-239C
Description: Black Magnetic Touch Latch
Qty/Pack: 2 pcs.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 131
Part Number: 22-67PAC
Description: Chrome Plated Shower Door Handle
Qty/Pack: 1 set
Qty/Peg: 3
Qty/ReOrder: 10

Complete RV Hardware Plan-O-Gram
Position Number: 127
Part Number: 45-232C
Description: Polished Brass Positive Catch with Strikes
Qty/Pack: 1 Set
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 128
Part Number: 45-216C
Description: Double Roller Cabinet Catch
Qty/Pack: 2 sets
Qty/Peg: 3
Qty/ReOrder: 10



82TOLL FREE: 800-352-0800

Position Number: 134
Part Number: 16-435C
Description: Brass Latch with Strikes
Qty/Pack: 1 set
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 135
Part Number: 16-436C
Description: 3" Brass Surface Bolt with Strikes
Qty/Pack: 1 set
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 136
Part Number: 16-185C
Description: Nickel Finish Security Latch
Qty/Pack: 1 set
Qty/Peg: 2
Qty/ReOrder: 10

Position Number: 133
Part Number: 2899C
Description: 3' Shower Door Seal
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

Position Number: 132
Part Number: 2897C
Description: Metal Shower Door Latch
Qty/Pack: 1 pc.
Qty/Peg: 3
Qty/ReOrder: 10

RV Complete Hardware Plan-O-Gram



ATTENTION: Purchasing Manager/Buyer

Paid2006 Elmwood Avenue, Unit 102C
Sharon Hill, PA 19079

BULK RATE
U.S. POSTAGE

CRELL Adv .CO.

410 S. 8th St.
Gloucester City, NJ

08030

philadelphia
800-352-0800

610-534-3200
www.strybuc.com 

24 hour fax:  610-534-3202

miami
(florida customers only)
800-780-5051 

305-558-5051 
www.strybuc.com 

24 hour fax:  305-557-5239

fax: 610-534-3202    phone: 610-534-3200    e-mail: cservice@strybuc.com

Note: All parts, signage, displays, accessories and prices are subject to change without notice.


